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MATHEMATICS 3917821
(English Version)

Time : 3 Hours 15 Minuteg

Max. Marks : 100 %‘_
Instructions : %.
@g@ 1) In the. duration of 3 hours 15 minutes, 15 minutes of time is allotted to read the Z
== ﬁ question paper. . %
[elE=2 2) All the answers shall be written in the answer booklet only. g]g;,@ é *:
3) Question paper consists of 4 Sections and 33 questions. Ee= § :E"
4) Internal choice is available in Sectjon — IV only. % %;:
L%S_,E.] 5) Answers shall be written neatly and legibly. ".:::.:'.
LS "

SECTION — | (12x1=12)
: Note: 1) Answer all

T LLLA

the questions in one word or a phrase. E']:;S,- _%
< 2) Each question carries 1 mark. Elg:a'-‘in
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3. If P(E) the probability of an event “E”, then g%%

‘: E el :S:
: A PE)=1 :

:  C) 0<PE)<]
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D) P(E)<1
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circle.
4, Defint rangent 10 A
{5 mtall is 28.5 maway from a t

<

erver

5. Anobs
{tower from her eyes.

of the top ©

6. Match the following :
i, sin Q(Q° X cOS 90° 5 8
.0
ii. cosO X secO q
i1 '{" & 19 —_— l ¢ 1
iil. Ifcosece co 5>

then cosecO — cotB

Choose the correct answer :
A) 1—=1 ii—p, Hi—q
B) i—>n 1—4q i1 — p
C) i—p, ii—gq iii—=r
D) i—q, ii—rn ii—P

s

7. Draw the
same radius.

5
Eﬁé iy
8. Statement I : Any two circles are similar.

Statement II : Any tWo equilaterall_l_

Choose the correct option from thefo

llowing.

A) Statement I is true and statement 11 is false

eacth

e ‘_5

B) Statement I is false and statemeht 11 is true

C) Both statements are true

D) Both statements are false

A

ower of height 30 m. Fi

rough figure of the toy which is in the form of a ¢

angles are similar.

Op0
S

nd the angle ofelc\,at-lq“

IOkAD
Zal

TirrA

one mounted on a hemisphere ¢
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o, Assertion : The pair of lincar ¢

a, h c, quations 2x + 3y+6=

0 and 4x + 6y + 7 = 0 have no golution.

Reason ;— = b, ¢ —L qn the linear €quations are parallel and there is no possible Soum(m#l’il
Choose the correct option from the following. %‘Jﬁ?‘
A) Both Assertion and Reason are true, Reason is supporting the Assertion
B) Both Assertion and Reason are true, but Reason is not supporting the Assertion
C) Assertion is false, but Reason is true
D) Assertion is true, but the Reason is false

10. The quadratic polynomial whose sum of zeroes is —3 and product of zeroes is 2 is @E
A) x*+3x+2 -

"B) x*-3x+2

C) x*-3x-2
D) x*+3x-2

ohD
O

11. If one root of the quadratic equation x> — 7x + 12 =0 is 4, then find the other root.

12. What is the common difference in an A.P. if the first term is 6 and the n® term is 6n 2
A) 4
B)- 5
C) 6
D) 0

O« I »

EEE
SECTION - 11 o (8x2=16)
Ol

Note : 1) Answer all the questions.
%?j__@ 2) Each question carries 2 marks.

13. Express (cosecB — cotf)? in terms of cos8.

14. Find the distance between (a cos8, 0) and (0, a sin®).

P.T.O.
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16.
17.
18.

19.

20.

By
N

15E & 15,

15. Find the zeroes of the quadratic polynomial x2 + 7x + 10. «@fgg
: E seirl

) ; ce area of the resulting
2 cubes each ofvolumg 64 cm*are joined end to end. Find the total surfa

cuboid.

Check whether the fOHO\Villg is a quadratic equation or not 7

2x-1) (x=3)=(x+5) (x - ),

A tangent PQ at a point P of a circle of radius 5 cm meets a line-through the centre O at a point

Q so that OQ = 12 cm.: Find the length of tangent PQ. g‘?ﬁ%
- E o

Define similar trianglés.

A player sitting on the top of a tower of height 20 m observes the angle of depression of a ball

lying on the ground a.é-:fs60°. Draw a rough diagram for this situation.

E’-:gé-”E" (8x4=3
b = s =32
SECTION —III Eﬁﬁ )

Note: 1) Answer all the questions.

21.

22.

23.

24.

2) Each questigh carries 4 marks.

Two dice, one blue and one grey are thrown at the same time. What is the probability that the

sum of the two numbgfs appearing on their tops is ?

i 6

i 12

iii) 9 =

iv) 13 i ELIE
[m]%%

Write the formula to ﬁnd the median of a grouped data and explain the terms involved in it.

A pen stand made of wood is in the shape of a cuboid with four conical depressions to hold
pens. The dimensions.of the cuboid are 15 cm by 10 cm by 3.5 cm. The radius of each of the
depressions is 0.5 cm-and the depth is 1.4 cm. Find the volume of wood in the entire stand.

Find the value ofk for the quadratic equation kx (x —2) + 6 = 0, so that it has two equal real roots.
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: prove that the lengthg of tangents dra IES‘%?.
" N fro . ;
~serve the follow, M externg| Point to a circle are ¢ ual
g Obs¢ g graph and - qual,
L W
;fi@ € the fo]lowing Questions,
Sy T
e
E5E
fes
éﬁ
O TER e o e 4
-5
-6 "
[E14E] 2
‘.E‘_:}'-;‘gg Vv a
H o 2
a) Name the shape of graph. %
b) How many zeroes of the polynomial are there in the graph ?

c) What are the zeroes of the polynomial in the graph ? @ﬁm

BT

d) Write the sum of zeroes,

[5]

P.T.O.
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SECTION -1V (S*BW)

Note: 1) Answer all the questions,

@:5[3 2) Each question Carries 8 marks.

s " . 2 ™ o H
Ejﬁ?ﬁ 3) Thereis an mternal chojce for each question.

29. a) Prove that /7 i Tational,

OR
b) The diagonals of 4 Quadrilaterg] ABCD intersect each other at the point O such that
ST O] - Show that ABCD is 4 trapezium. gﬁ'@
BO DO -

of:

30. a) Find the co-ordinates of the Points of trisection of the Jine segment joining (-3, —5) anq

(=6, -3).
OR

b) A cow is tied to a peg at one corner ofa Square shaped grass field of side 20 m by mglanég of
6 m long rope. Find : :r-z‘
| e
1) the area of that Part of the field i, which the cow can graze.,

1) the increase in the 8razing areq if the rope was 11.5 m long instead of 6m.

31. 2) One card is drayy from a wejj shuffled deck of 53 cars. Calculate the probability that the
OB card win =
E?ﬁ 1) be an ace

1i) not be an ace

1i) a face card and

1v) a spade.
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ﬁ) Find the me

5 A an for the following data (Using step deviation method).
@g)i% - 0-10 10-20 20-30 30-40 40-50
2 1 requency .
= Frequency B 16 36 4 6 G5
OR @?‘ﬁ
; 18
b) Find the sum of first 51 terms of an A.P. whose second and third terms are 14 and
respectively,
sy
(=]
33. a) Solve the following pair of linear cquations graphically :
2X+ty—-6=0
4x -2y -4 =0,

OGS« » M »

OR

e o
b) Form the pair of linear equations in the following situation and find their solution = %ﬁ
- graphically.

EEE Lata bought two pencils and three chocolates for ¥ 9 and Suma bought one pencil and two
e

chocolates for X 5. Find the price of one pencil and that of one chocolate.

Scanned with ACE Scanner



